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QUESTION 1

Evaluate these statements:

CREATE TABLE purchase_orders

(po_idNUMBER(4),

po_dateTIMESTAMP,

supplier_idNUMBER(6),

po_totaINUMBER(8,2), CONSTRAINT order_pk PRIMARY KEY(po_id))
PARTITION BY RANGE(po_date)

(PARTITIONQ1 VALUES LESS THAN (TO_DATE(\'01-apr-2007\\', \\'dd-mm-yyyy\\")),
PARTITIONQ2VALUESLESSTHAN(TO_DATE(\'01-jul-2007\\',\\'dd-mm-yyyy\\)),
PARTITIONQ3VALUESLESSTHAN (TO~DATE(\'01-oct- 2007\\',\V'dd-mm-yyyy\\")),
PARTITIONQ4VALUESLESSTHAN (TO_DATE(\'Ol-jan-2008\\', \'dd-mm-yyyy\\')));
CREATE TABLE purchase_order_items

(po_idNUM3ER(4)NOT NULL,

product_idNUMBER(6)NOT NULL,

unit_price NUMBER(8,2),

quantity NUMBER(8),

CONSTRAINT po_items_fk

FOREIGN KEY (po_id)REFERENCES purchase_orders(po_id))

PARTITION BY REFERENCE(po_items_fk);

Which two statements are true? (Choose two.)

A. Partitions of purchase_order_items are assigned unique names based on a sequence.

B. The purchase_orders and purchase_order_items tables are created with four partition each.

C. purchase_order_items table partitions exist in the same tablespaces as the purchase_orders table partitions.

D. The purckase_order_:teks table inherits the partitioning key by duplicating the key columns from the parent table.

E. Partition maintenance operations on the purchase_order_items table require disabling the foreign key constraint.

Correct Answer: BC
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QUESTION 2

RMAN is connected to the target database prodl and an auxiliary instance in nomount state. Examine the command to
create a duplicate database:

RMAN> DUPLICATE TARGET DATABASE TO dupl
FROM ACTIVE DATABASE
NOFILEMNAMECHECK
PASSWORD FILE
SPFILE;

Which two statements are true about the execution of the duplicate command? (Choose two.)
A. All archive redo log files are automatically copied to the duplicate database.
B. The duplicate database has the same directory structure as the source database.

C. C. The duplicate database is created by using the backups created during the execution of the DUPLICATE
command.

D. The password file and SPFILE for the duplicate database DUP1 are created in their respective default locations.

E. The duplicate database is created without using RMAN backups and PRODL1 is allowed to remain open during
duplication.

Correct Answer: BE

QUESTION 3

Which three are true about Transparent Data Encryption (TDE)? (Choose three.)
A. It stores the current and all past master keys in the keystore.

B. It replaces secure application roles.

C. Master encryption keys are managed by Oracle Database Vault.

D. It can encrypt data at the column level.

E. It uses a single master key for a database.

F. It encrypts only data on the client.

Correct Answer: ACD

Reference: https://docs.oracle.com/database/121/ASOAG/introduction-to-transparent-
dataencryption.htm#ASOAG10117

QUESTION 4

Identify three reasons for using a recovery catalog with Recovery Manager (RMAN). (Choose three.)
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A. to store backup information of multiple databases in one place
B. to restrict the amount of space that is used by backups
C. to maintain a backup for an indefinite period of time by using the KEEP FOREVER clause

D. to store RMAN scripts that are available to any RMAN client that can connect to target databasesregistered in the
recovery catalog

E. to automatically delete obsolete backups after a specified period of time

Correct Answer: ACD

QUESTION 5

Examine these RMAN commands:

RMAN> CONNECT TARGET "“sbul@prod AS SYSBACKUP”;
RMAN> CONNECT AUXILIARY “sbu@dup db AS SYSBACKUP”;

RMAN> DUPLICATE TARGET DATABASE TO dup db
FROM ACTIVE DATABASE
PASSWORD FILE
SECTION SIZE 400M;

Which two statements are true about the DUPLICATE command? (Choose two.)
A. It fails because connection to the AUXILIARY instance must be as SYSDBA.
B. It fails because no parallel channels are allocated for the auxiliary database.
C. It succeeds only if the target database is greater than 400M.

D. No catalogued backup of the TARGET is used to duplicate the database.

E. It succeeds.

Correct Answer: CD
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